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2007-08 State Competition

Match #1


These questions are for use in the Virginia High School League’s Scholastic Bowl State Tournament. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Participants must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before the end of the state tournament is prohibited. 

(b)
Releasing these questions to entities outside Virginia is prohibited. 

First period: 15 tossups, 10 points each
1.
His successor, Augustus II, was little more than a puppet of his nation’s neighbors. With the help of his wife Maria Casimira, he was elected king in 1674. The Turks called him the ‘Lion of Lechistan’ and Pope Innocent XI called him the ‘Savior of Western European civilization.’ What Polish King defeated Kara Mustafa’s huge Ottoman army in 1683 at the Battle of Vienna? 


ANSWER: John Sobieski or John III (accept “Jan” in place of “John”)

2.
This statue’s creator carved his name and hometown on it after hearing a rumor that Cristoforo Solari was its creator – it was the only work its creator ever signed. In 1972, a man who thought he was Jesus Christ nearly destroyed it with a hammer. One of the figures in this statue has a couple of wounds in the hands, and a mark in the side. The other is sitting on the rock of Golgotha. What Michelangelo statue depicts the Virgin Mary holding the body of Christ on her lap? 


ANSWER: Pietà

3.
Buck Williams and Bruce Barnes are members of this group. Another member, Chloe Steele, gave it a name. Chang Wong is allowed to join, despite having the Mark of the Beast. It fights the One World Unity army led by Nicolae Carpathia. In the Left Behind novels, what group of Christians remains on Earth after the Rapture and fights Carpathia, who is the Anti-Christ? 


ANSWER: Tribulation Force
4.
In abstract algebra, it is a bijection from a finite set onto itself.  Using r elements from a set of n, the number of these is calculated by n factorial divided by the factorial of the quantity n minus r. It is abbreviated nPr (small n, capital P, small r).  Name this term for arrangements of objects in which, as opposed to combinations, order and being distinguishable are important.

ANSWER: permutation
5.
Discovered by Cecil Powell in 1947, the neutral type of this boson has zero spin and a rest mass of 135 million electron volts. One typically decays into a muon and a neutrino. The positive type is made of one up and one anti-down quark, while the negative type is made of one down and one anti-up quark.  Name this type of meson.

ANSWER: pion or pi meson
6.
Segoy created this world by raising its lands from the ocean. Some time later, the Dragons left men to go to the uttermost west. The warlike Kargs live to the northeast of the central archipelago, and there are also the four ‘Reaches’ of islands to each direction. Magic consists of speaking words in the True Speech. One of the greatest wizards is Ged (ghed), who studied magic on Roke Island. What world did Ursula Le Guin write about in novels including A Wizard of (BLANK)? 


ANSWER: Earthsea
7.
They come in ‘option’ and ‘hybrid’ varieties. Their rate is determined by the Cost of Funds Index, the London Interbank Offered Rate, or the rate of 1-year Treasury bills. They are advertised with two numbers: the number before the slash is the number of years the interest rate is fixed and the number after the slash is the frequency of rate changes. What is this type of real-estate loan? 


ANSWER: adjustable-rate mortgage(s) or ARM(s) (prompt on “mortgage”)

8.
Many grammarians will classify this part of speech in four groups: concrete, count, collective, and proper. What part of speech is traditionally defined as a person, place, or thing? 

ANSWER: noun
9. 
He was CEO of Goldman Sachs between 1994 and 1999. He spent $62 million in his 2000 Senate campaign and $100 million in his 2005 gubernatorial campaign. In 2007, he made a public service announcement encouraging people to wear seatbelts. This was done after he nearly died in an accident due to not wearing a seatbelt. In 2006, he oversaw a state government shutdown which led to casinos being shut down in Atlantic City. Who is the governor of New Jersey? 

ANSWER: Jon Corzine
10.
Its eight bones include the scaphoid, trapezium, and trapezoid. This condyloid joint contains two of the ulnar and radial collateral ligaments. Name this joint that contains a carpal tunnel, located between the forearm and the hand.

ANSWER: wrist
11.
To an industrialist, it means to pour liquid metal in a mold and letting it solidify. To a fisherman, it means to throw out a fishing line or a net. To a doctor, it refers to a bandage treated with hardened plaster of Paris that is applied over a broken bone. To a thespian, what word refers to a show’s performers?


ANSWER: cast
12. 
Listen closely, and you can hear it in Mountain’s ‘Mississippi Queen’ and Nazareth’s ‘Hair of the Dog.’ According to its ‘project,’ it is the ‘third evil cousin’ of the cymbal, and its patron saint is Christopher Walken. Gene Frenkle (FRAYN-kul), who died in 2000, is perhaps its most famous player. In a Saturday Night Live skit, THE Bruce Dickinson says, ‘I've got a fever, and the only prescription’ is more of what percussion instrument?

ANSWER: cowbell
13.
The Louisiana counterpart to this judicial concept is acquisitive prescription. To qualify, someone must have open, exclusive, hostile, and continuous possession of a piece of real estate for a period of time that varies by state. If the actual owner attempts to evict or otherwise assert a right of ownership, this doctrine cannot apply. What judicial concept allows someone to acquire property for free, and is also called squatters’ rights? 


ANSWER: adverse possession (accept squatters’ rights before it is said)

14.
Examples of them include boron carbide, silicon nitride, and boron nitride.  Some of them can be used as superconductors, and some are made of clay.  They are used in the space shuttle’s thermal tiles, and in bricks, tableware, and bone china.  What word describes an inorganic non-metal made due to the action of heat? 

ANSWER: ceramic
15.
About six weeks before this battle, the fortress of Ulm surrendered, one of many defeats for Karl Mack. Its turning point was an attack on the Pratzen Heights. After it, the treaty of Pressburg was signed, forcing Austria to pay 40 million francs but allowing Russian troops to return home. This broke apart the Third Coalition. Francis II and Alexander I were defeated by Napoleon at what battle on December 2, 1805? 


ANSWER: Battle of Austerlitz
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Governor Kaine symbolically pardoned what man, who was executed in 1800 for leading a slave revolt that took place 31 years before Nat Turner?

ANSWER: Gabriel Prosser
1B.
‘My mother is a fish’ is an entire chapter in this novel. Addie Bundren has just died in which novel by William Faulkner? 


ANSWER: As I Lay Dying
2A.
The first boss of the Genovese family was what mobster that ran out of good fortune when he died of a heart attack in 1962? 


ANSWER: Lucky Luciano
2B.
The hallux refers to what part of the body?

ANSWER: big toe (prompt on ‘toe’)

3A.
THIS IS A COMPUTATION QUESTION. What is the sum of the integers from 10 to 30, inclusive?

ANSWER: 420
3B.
Massanutten Mountain splits the two forks of what Virginia river which empties into the Potomac at Harper’s Ferry, West Virginia? 


ANSWER: Shenandoah River

4A.
What type of ion has a positive charge?

ANSWER: cation
4B.
THIS IS A COMPUTATION QUESTION. In Roman numerals, what is MCIX plus DCCVII?

ANSWER: MDCCCXVI 
5A.
What word goes with ‘after’ to mean following someone in action, ‘in’ to mean swindle, ‘off’ to mean removing clothing, and ‘over’ to mean to assume control?


ANSWER: take
5B.
What first manager of the New York Mets was also the manager of the New York Yankees when they won five straight World Series?


ANSWER: Casey Stengel
6A.
Hitting the F8 key when your Windows computer is booting will take your computer to what diagnostic mode?


ANSWER: safe mode

6B.
THIS IS A COMPUTATION QUESTION. Solve for x.  18x plus 4 equals 45x minus 5.

ANSWER: x equals 1/3
7A.
THIS IS A COMPUTATION QUESTION. Giving your answer in degrees, what fourth-quadrant angle has a cosine equal to the square root of 3 divided by 2?

ANSWER: 330 degrees
7B.
What architect designed the John Hancock Tower and the Pyramids of the Louvre?


ANSWER: I.M. Pei
8A.
Cotswold and Border are two types of what English folk dance that uses a handkerchief, and whose name is a corruption of the name of Spain’s Muslim occupiers? 


ANSWER: Morris dancing (DO NOT accept ‘Moorish’)

8B.
Conrad is crushed by a giant helmet in what early Gothic novel by Horace Walpole?

ANSWER: The Castle of Otranto
9A.
His Vice-Presidents were F.W. de Klerk and Thabo Mbeki. Who was the first President of post-apartheid South Africa?


ANSWER: Nelson Mandela
9B.
Reigning between 440 and 461 A.D. was what Pope, most notable for convincing Attila the Hun not to sack Rome? 


ANSWER: Leo I or Leo the Great
10A.
From what language did Spanish get the word hasta (AH-stah)?

ANSWER: Arabic
10B.
What animal’s scientific name is Panthera leo?

ANSWER: lion
Third period, 15 toss-ups, 10 points each

1.
Seed-bearing plants appeared near its beginning, causing the soil to become less red. The emergence of sharks caused trilobites to decline in number. Insects first appeared at its beginning. Towards its end, the first amphibians walked on land. Coming after the Silurian and before the Carboniferous was what geologic period named for a county in southwest England? 

ANSWER: Devonian Period

2.
His Irish Christmas concert of 1994 was his last performance, and has been broadcast on PBS every year since then. He was the highest-paid star on television when he hosted the Kraft Music Hall between 1959 and 1963. His 1958 single, ‘Catch a Falling Star,’ was the first ever RIAA-certified gold record. His first number one hit was 1945’s ‘Till the End of Time.’ He also sang ‘Don’t Let the Stars Get in Your Eyes,’ and ‘Hot Diggity (Dog Ziggity Boom).’ What Italian-American singer was nicknamed ‘Mr. C?’ 


ANSWER: Perry Como
3.
This play’s character of Lucius O’Trigger was seen as an insult against Irishmen, helping make its 1775 Covent Garden debut a disaster. After a re-write, it ran again eleven days later. By the end of the play, Faulkland and Julia are married. The poor Ensign Beverly is revealed to be the rich Captain Jack Absolute, who then marries Lydia Languish. Lydia’s aunt, Mrs Malaprop, appears in what play by Richard Sheridan? 


ANSWER: The Rivals
4.
It has 23 satellite campuses around its state, including Hazleton, Berks, and Beaver. It is associated with the Dickinson School of Law and the Hershey Medical Center. The Old Main building is located in its University Park campus, conveniently located in its state’s Centre County. Beaver Stadium and the Lion Shrine are on the campus of what university, the home of Joe Paterno and Nittany Lions? 


ANSWER: Penn State University or The Pennsylvania State University
5.
Her attendants were the Curetes (koo-RAY-tays) and her chariot was pulled by two lions.  The Phrygians associated her with the Great Mother goddess Cybele (CIH-buh-lee). She hid her youngest child on Mount Ida after her husband had eaten her five oldest children. What wife of Cronos was the mother of Demeter, Hera, Hades, Poseidon, and Zeus? 


ANSWER: Rhea
6.
Belonging to the infraorder Anisoptera (ah-nih-SAWP-teh-ruh), they are usually found around lakes and wetlands and eat flies, bees, and mosquitoes.  Larger ones with wingspans of over two feet existed millions of years ago.  Name this insect that has two pairs of wings and an elongated body.

ANSWER: dragonfly
7.
It was first stated in 1834 by Benoit Clapeyron and works best for monoatomic molecules at high temperatures and low pressures. Unlike the van der Waals equation, it does not account for molecular size and attraction. Name this equation that states that pressure times volume equals the amount of substance of a gas times the temperature times the gas constant. 

ANSWER: ideal gas equation

8.
The humorist Corey Ford said this author had one plot: ‘Boy meets Girl = Tragedy.’ Though mostly a novelist, he wrote the short story collection Free and Other Stories in 1918. His Trilogy of Desire contained The Financier, The Titan, and The Stoic. This author of Jennie Gerhardt used the real-life murder of Grace Brown by Chester Gillette as the basis for An American Tragedy. Who wrote about a girl abandoning her family, the Meebers, in Sister Carrie? 


ANSWER: Theodore Dreiser
9.
They were written between 1782 and 1785, and were dedicated to the composer that created the modern variety of their musical form. They have Kochel (KOH-shel) numbers 387, 421, 428, 458, 464, and 465. Two of the six have nicknames: ‘Hunt’ and ‘Dissonance,’ the latter of which is named from the slow introduction. What are these six string works by Mozart dedicated to, and named for, the composer of the Surprise Symphony? 


ANSWER: Haydn Quartets
10.
After this battle, the loser signed the Treaty of Velasco. Preparations for it started when the ‘Twin Sisters,’ two cannon donated by the people of Cincinnati, were stationed on high ground. Cavalry commanded by Mirabeau Lamar were sent around the enemy’s left flank. The enemy failed to post sentries during their siesta, enabling Sam Houston to capture Santa Anna at what decisive battle of the Texan Revolution? 


ANSWER: battle of San Jacinto (hah-SEEN-toh)

11.
In 1894, he bought Bofors, a Swedish iron works that he converted into an armaments maker. Most of his experiments were with nitroglycerin, such as the invention of blasting gelatin.  His life had begun to change in 1888, when a French newspaper called him the ‘merchant of death’ for inventing dynamite. Who left most of his fortune to establish prizes for achievement in physics, chemistry, medicine, literature, and peace? 


ANSWER: Alfred Nobel
12.
THIS IS A COMPUTATION QUESTION. The positive square root of 750 is between what two integers, given that 729 and 784 are perfect squares?

ANSWER: 27 and 28 (can be said in either order)

13.
He broadcast from Vienna during the Anschluss. He forced Bill Shirer to resign in 1947. After the shift to television, he was the host of See It Now, and devoted several episodes to exposing Joseph McCarthy. What journalist for CBS opened his radio reports from the London Blitz with the phrase, ‘This … is London’ and often closed his broadcasts with the phrase ‘good night, and good luck’?   


ANSWER: Edward Murrow
14.
The Blot and the Symbel are two gatherings in this religious movement. Priests are called Gothi and a congregation is called a Kindred. ‘Folkish’ believers will include ancestor worship. It has two main branches: an American-based ‘Free Assembly’ and the Icelandic. One of its important symbols is a Mjolnir pendant. What religion seeks to restore the pre-Christian religion of Scandinavia, including belief in the Norse gods? 


ANSWER: Asatru
15.
Its author was infatuated with Peter van Daan, was friends with Miep Gies (GHEES), and was somewhat jealous of her older sister Margot. It is a companion piece to Tales from the Secret Annex. It was first published in Dutch in 1946 as Het Achterhuis (hayt ak-ter-HWEES). It was composed between June 12, 1942, and August 1, 1944. What is this work written by a teenage girl who died during the Holocaust? 


ANSWER: The Diary of a Young Girl (accept Anne Frank’s Diary or The Diary of Anne Frank)
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
THIS IS A COMPUTATION QUESTION. Where are the vertices of the hyperbola x squared over 676 minus y squared over 900 equals 1, given that the hyperbola x squared over a squared minus y squared over b squared equals 1 has vertices at (a, 0) and (-a, 0)?

ANSWER: (26, 0) and (-26, 0) (can be said in either order)

2.
The Five Civilized Tribes mostly ignored his message, save for the Red Stick Creeks. He ultimately joined the British Army and died at the Battle of the Thames. His brother, known as ‘The Prophet,’ ignored his orders and attacked American forces under William Henry Harrison at the Battle of Tippecanoe. What Shawnee chief attempted to oppose American expansion by forming a confederacy of Indian tribes? 


ANSWER: Tecumseh
3.
He was the son of Galmod and was told to ‘be silent’ by Gandalf. He also thought a palantir was just a ‘heavy rock.’ He killed the Chief Shiriff Lotho Sackville-Baggins, and may have eaten him. During the Battle of Bywater, he killed Saruman and was then killed. Saruman had promised him marriage to Eowyn. Who was this advisor to King Theoden of Rohan in The Lord of the Rings series?


ANSWER: Grima Wormtongue (accept either)

4.
The actor who portrayed this character described him as a combination of Pepe Le Pew and Keith Richards. A former employee of the East India Company, he was removed from service after refusing to transport slaves. He once escaped from a deserted island by tying two sea turtles together with the hair from his back. What rum-thirsty Pirate Lord is the captain of the Black Pearl and was played by Johnny Depp in three movies? 

ANSWER: Captain Jack Sparrow
5.
James Lovelock said this program spent too much time looking at soil and not enough at the atmosphere. Rocket fuel exhaust may have killed life near the landing sites. Both of the missions in this program launched in 1975 and the two landers operated until the 1980s. Its mission is continued today by the Pathfinder and Sojourner rovers. What NASA program beamed back the first pictures of the Martian surface?

ANSWER: Viking
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

